
Séquence de Nombres Linéaires (A)Remplissez les nombres qui manquent de chaque nombre linéaire.
1. -211 14 314Différence commune:2. -63 -13 12 37 137Différence commune:3. 36 46 76 86Différence commune:4. -798 -698 -498 -398 -298 -198 -98 2 102Différence commune:5. -26 74 124 174 224 324Différence commune:6. 287 687 887Différence commune:7. -58 -33 17 42 67 92Différence commune:8. -615 -515 -315 -215 -115 -15 185Différence commune: Mathslibres.com



Séquence de Nombres Linéaires (A) RéponsesRemplissez les nombres qui manquent de chaque nombre linéaire.
1. -361 -286 -211 -136 -61 14 89 164 239 314Différence commune: 752. -88 -63 -38 -13 12 37 62 87 112 137Différence commune: 253. 6 16 26 36 46 56 66 76 86 96Différence commune: 104. -798 -698 -598 -498 -398 -298 -198 -98 2 102Différence commune: 1005. -76 -26 24 74 124 174 224 274 324 374Différence commune: 506. -13 87 187 287 387 487 587 687 787 887Différence commune: 1007. -108 -83 -58 -33 -8 17 42 67 92 117Différence commune: 258. -615 -515 -415 -315 -215 -115 -15 85 185 285Différence commune: 100Mathslibres.com


